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@ RR(Round-Robin)

@ SPN(Shortest Process Next)

@ HRRN(Highest Response Ratio Next)
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int queuel]MAX_QUEUE_SIZE; AHAA T
int front, rear; [] a&9d 99
void enqueue(int item) { 10KB [] A7k 99
if( (rear + 1) % MAX_QUEUE_SIZE == front ) { %5 KB
printf("queue is full\n”);
return; 15 KB
}

rear = (rear + 1) % MAX_QUEUE_SIZE; N
queuelrear] = item;

}
int dequeue() {
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if( front == rear ) { D
printf("queue is empty\n"); @ v
return -1,
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front = (front + 1) % MAX_QUEUE._SIZE; D=

return queuelfront];
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class Person {
private String name;
public int age;
public void setAge(int age) {
this.age = age;
}
public String toString() {

return("name: " + this.name + 7, age :

"

+ this.age);

}
public class PersonTest {
public static void main(String[] args) {

Person a = new Person(); /1O
a.setAge(27); /O
aname = "Gildong”; // ©
System.out.printin(a); /@
}
}
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